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QUESTION 1

An administrator wants to ensure that when virtual machines (VMs) are powered on, Distributed Resource Scheduler
(DRS) places them on the best-suited host. When the cluster becomes imbalanced, the administrator wants DRS to
display recommendations for manual VM migration. 

Which DRS automation level should the administrator select? (Choose the best answer.) 

A. Manual 

B. Partially automated 

C. Fully automated 

D. Disabled 

Correct Answer: B 

 

 

QUESTION 2

What is the foundation of a software-defined data center (SDDC)? (Choose the best answer.) 

A. vRealize Operations Manager 

B. vSphere 

C. vSAN 

D. NSX 

Correct Answer: B 

Reference: https://www.vmware.com/solutions/software-defined-datacenter.html#:~:text=as%2050%
20percent.-,vSphere,point%20for%20building%20your%20SDDC 

 

QUESTION 3

An administrator is utilizing Network I/O Control (NIOC) to allocate bandwidth utilization on a physical 10 Gbps adapter. 

What is the maximum amount of bandwidth that can be reserved? (Choose the best answer.) 

A. 2.5 Gbps 

B. 10 Gbps 

C. 5.0 Gbps 

D. 7.5 Gbps 
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Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-
Center/2.4/installation/GUID-9A8FD62AF099-4329-8220-6D5853F9A62D.html (note) 

 

QUESTION 4

An administrator runs a two-node vSphere cluster, which contains two domain controller virtual machines (VMs). The
administrator wants to ensure that VMs run on separate hosts without interfering with normal maintenance operations. 

How should the administrator configure Distributed Resource Scheduler (DRS)? (Choose the best answer.) 

A. Create a ‘Must run Virtual Machines to Hosts’ anti-affinity rule. 

B. Create a ‘Virtual Machines to Virtual Machines’ anti-affinity rule. 

C. Create a ‘Virtual Machines to Virtual Machines’ dependency rule. 

D. Create a ‘Should run Virtual Machines to Hosts’ anti-affinity rule. 

Correct Answer: B 

Reference: 

https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.resmgmt.doc/GUID-7297C302

378F-4AF2-9BD6-6EDB1E0A850A.html 

 

QUESTION 5

vCenter High Availability (HA) protects vCenter Server against host and hardware failures. 

What is the minimum number of ESXi hosts required to enable this capability? (Choose the best answer.) 

A. 5 

B. 7 

C. 1 

D. 3 

Correct Answer: D 

Reference: 

https://docs.vmware.com/en/VMware-vSphere/7.0/vsphere-esxi-vcenter-server-70-availability-guide.pdf 
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